Chemistry Chapter 11
Wkst 11 A

Use the complete set-up for each of the problems.  Write a balanced equation, not the given and unknown.  The use factor label method to calculate the answers.

1. When a mass of 12.7 g of magnesium is burned in air, it combines with oxygen to form magnesium oxide.  A) How many grams of oxygen are needed?  B) How many grams of magnesium oxide are formed?

2. A mass of 37.5 g of mercury II oxide is decomposed by heating.  The reaction is 2HgO ( 2 Hg + O2  A) how many moles of mercury II oxide are decomposed?  B) How many moles of oxygen are prepared?  C) How many grams of oxygen are made?

3. Sodium chloride reacts with 15.0 g of silver nitrate in water solution.  A) How many grams of sodium chloride are required? B) How many grams of silver chloride are precipitated?
4. How many grams of copper II oxide can be formed by burning 1.00 Kg of copper?

